MATH 260 - QUIZ #4 Name: \Lg\?

Directions: Please show all work for maximum credit. This quiz is worth 16 points. Good
luck!

(3 poinis) 1. Determine if S ={(5,6,5),(2.1,-5),(0,—4,1)} spans R’
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(3 points) 2. Determine if §= {—2 —x,243x+x%,6+5x+x° } is linearly independent or linearly
dependent.
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(3 points) 3. Determine if S = {(4, -3,6,2),(L, 8,3,1),(3,—2,—1,0)} is linearly independent or
linearly dependent.
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Math 260 — Quiz #4 P

(3 points) 4. Determine if S ={(1-1, 0).(1,0,-1),(~1,-2.3)} is a basis for R’.
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5. The following sets of vectors do not form a basis for V. Explain why not.
(2 points) b. V=R’ §={(10,1),(0.11),(2.0,2)}
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(2 points) ¢. V=R* {(11-1,2),(10.1,-1),(2.-11,-1)}
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